Worksheet for the spreadsheet “Market with tax”

All of the questions below should be answered by changing the numbers in the six shaded cells in the spreadsheet.  If you choose an inappropriate number, a warning message will appear on the spreadsheet.  Since these warnings are hidden when not required, do not type anything in any other cells, even if they appear empty!  If you pass the cursor over the red triangle, a comment will appear, with information about what is in that cell.

Start by choosing values for the four shaded cells in column B (two intercepts, two slopes), and set the tax level (in cell A10) to 0.

What is the equilibrium quantity (cell A13)? ______________

What is the market price (cell A15)? ______________

How large is consumer surplus (cell A17)? ____________

How large is producer surplus (cell A19)? _________________

Now set the tax level to a positive number.

What is the new market price (cell C15)? ______________

How much will the firm receive per unit (not shown in any cell, but fairly easy to work out)?

What is the new consumer surplus (cell C17)? ____________

What is the new producer surplus (cell C19)? _____________

How much tax revenue does the government get (cell C21)? _______________

How great is the dead weight loss (cell A21)? ________________

How does it compare to the change in consumer surplus, producer surplus, and tax revenue?

Now double the tax level.

How much does the tax revenue rise (as a proportion)? ____________

How much does the dead weight loss rise (as a proportion)? ____________

What tax level gives you the greatest tax revenue? _________________

How is this related to the difference between the two intercepts (cells B3 and B7)? _________

How large are dead weight losses, relative to tax revenues? ______________

Choose any tax level, and make the two slopes equal in absolute value (i.e. the demand slope is minus the supply slope). 

How big is the change in the market price (cell E15) relative to the tax level? __________

What proportion of the combined fall in consumer and producer surplus (cell E21) comes from consumers? _____________ 

What proportion comes from producers? _______________

Now make the demand slope twice as steep as the supply slope (i.e. minus twice the supply slope).  How big is the change in the market price relative to the tax level? __________

What proportion of the combined fall in C.S. and P.S. comes from consumers? ___________ 

What proportion comes from producers? _______________

Now make the demand slope half as steep as the supply slope (i.e. minus half the supply slope).  How big is the change in the market price relative to the tax level? __________

What proportion of the combined fall in C.S. and P.S. comes from consumers? ___________ 

What proportion comes from producers? _______________

Can you see any pattern between the relative slopes of demand and supply, and the extent to which the tax burden falls on consumers?
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